EEREREMEBE=AI VAT (EREF13E)FER
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RF A ER X RKAED (REHRYL)
FEERKEXEAL (RFAH)
AESS R EFRPIEME(L Sv/h)
No. A X5 FRELT éE 50cm T (- 48D FHE) 23
i sm | smiz2m | sm | mizm | sm | smi2m
PERE | AErR | HEsE | HERE | PreR | Arrs
_ 50cm 0.07 0.07 0.07 0.08 0.09 0.09
816 | =F&HT *REER =EME—REM 8A21H
1m 0.07 0.07 0.07 0.08 0.09 0.08
50cm 0.08 0.09 0.07 0.07 0.10 0.10
817 | Z=&HfT *REEH =EMEREM 8A19H
1m 0.08 0.08 0.06 0.07 0.10 0.09
~ 50cm 0.10 0.10 0.09 0.08 0.10 0.10
818 | =#&HT *REER =EBTRERR 8A21H
1m 0.10 0.10 0.09 0.10 0.09 0.10
) i ) 50cm 0.09 0.09 0.08 0.08 0.11 0.10
819 | =AM ZELE RECELE=FHRE 8208
1m 0.09 0.08 0.08 0.09 0.11 0.10
50cm 0.08 0.08 0.10 0.08 0.09 0.09
820 | =M YR =FATILFEFHE 8A19H
1m 0.07 0.09 0.09 0.09 0.08 0.09
50cm 0.08 0.09 0.08 0.08 0.09 0.09
821 = &M YR ZHEMMLETIH#E 8A20H
1m 0.08 0.08 0.08 0.08 0.08 0.09
50cm 0.09 0.10 0.08 0.07 0.11 0.11 [EM I S0 I 5 -BEZ ] Ns29=[E
822 | =&HT PR ERETHHE BT —FTIHHH) | 8A198 x = - R
= im 0.09 0.09 0.08 0.07 0.11 0.11| BTN No832E RIBT ch £k £
50cm 0.08 0.08 0.10 0.09 0.09 0.09
823 | =M INEEAR = HBTIL FE/NEER 8A 198
1m 0.08 0.09 0.10 0.09 0.09 0.10
50cm 0.09 0.10 0.08 0.07 0.11 0.11
824 | =M INEEAR =HBTI R E/INER 8A20H
1m 0.09 0.09 0.08 0.07 0.11 0.10
50cm 0.14 0.14 0.10 0.09 0.10 0.09
825 | =AM INEEAR =HEILET/INER 8A208
1m 0.12 0.14 0.09 0.10 0.10 0.09
50cm 0.08 0.08 0.08 0.07 0.11 0.10
826 | Z=&HT INEEAR ZEBN =FINER 8A218
1m 0.08 0.08 0.08 0.07 0.10 0.10
N ) N 50cm 0.14 0.13 0.09 0.09 0.10 0.11
827 | =AM INEEAR ZEFBTLEAR N ER 8A218
1m 0.12 0.12 0.09 0.09 0.10 0.11
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RF A KE B3 TARD (EHRVD)
BERKEARALR (RFHYD

AESS ZERRE R AIEE( L Sv/h)
5 = REE-BEESE
No. | hETH R4 SRELI BE | 50om P FE0 (k- 4RO T 918) e
m 5@ | mi2m [ sm | mi2m | @ | ®miem
HEHE | BatE | BEGE | HasE | nass | Hass
500m 0.08 0.09 0.10 0.10 0.09 0.10
828 | =M INEEAR ZEHBLRAB MR 8H21H
im 0.08 0.09 0.08 0.11 0.10 0.09
50cm 0.09 0.10 0.08 0.07 0.11 0.11 [EM I S0 I &5 -BEZ ] Ns2ER
820 | =T INERR ERENER (BBTL—FTHH) | 8A198 = A ooes
- = - im 0.09 0.09 0.08 0.07 0.11 0.11|FTHVHEEL. No832E RIET ch £k £
500m 0.12 0.12 0.10 0.1 0.11 0.11
830 | =M 2R =EEE TR 8H20H
im 0.12 0.12 0.10 0.10 0.11 0.11
500m 0.09 0.08 0.08 0.09 0.10 0.10
831 = &M 2R ZHBI = HF DR 8A 198
im 0.08 0.08 0.07 0.09 0.10 0.10
50cm 0.09 0.10 0.08 0.07 0.11 0.11 [EM I 50O I &5 -BEZ ] Ns2=ER
832 | =T hegs EREThPRK (BT L—FTHH) | 8A198 = A eoes
= im 0.09 0.09 0.08 0.07 0.11 0.11|FTHIHEEL. No829 B RIBT /MR & X
N B 500m 0.11 0.1 0.09 0.09 014 014
833 | =M1 BEER HIM SR 8H21H
im 0.11 0.11 0.09 0.10 013 0.13
B 50cm 0.10 0.10 0.07 0.07 [E®O] EE=AO
834 =&HmT BEEER EEREBIHEMER 8H20H AR .
= im 010 0.09 0.07 0.08 [HhE-BES ] WL
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